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(8D 1 kW kWh kWh kWh t-CO2
H16 22 85 1,160 98,600 98,600 o7
H17 20 79 1,160 91,640 190,240 110
H18 22 86 1,160 99,760 290,000 168
H19 290,000 168
H20 PR DL 290,000 168
H21 45 165 1,160 191,400 481,400 27e)
H22 53 21 1,160 254,040 735,440 426
H23 53 211 1,160 244,760 980,200 568
H24 53 242 1,160 280,720 1,260,920 730
H25 102 396 1,160 459,360 1,720,280 996
H26 136 599 1,160 694,840 2415120 1,398
H277 o8 479 1,160 555,640 2,970,760 1,720
H28 64 298 1,160 345,680 3,316,440 1,920
H29 54 257 1,160 298,120 3,614,560 2,093
&5t 122 3,116 - - - 10,801
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